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E] 112,000 982,000 A 870,000
201 Let2d] 22,000 22,000 0
01 At 22l 12,000 12,000 0
Ozetl & =M E2(UHY , AM=S 6,000
OXNB3sl =& M SAA =4l 6,000
03 &Ar2 I 10,000 10,000 0
OFEEN #AXE 10,000
307 21201 A 60,000 960,000 900,000
02 22t E xS 55,000 35,000 20,000
OFe E2UAMN F & 2=
500,000& x5 #23] 5,000
OFeH dEAR= 29 30,000
O=Hza22Ad3 29 20,000
04 RIZIHAIE X S 5,000 925,000 920,000
OZFeH 22U BEARI &8
250,000 x5 *4 3] 5,000
401 Al HI L2 THHI 30,000 0 30,000
01 A& HI 30,000 0 30,000
OF&H ALEAIR= 212dd 30,000
ZHM(2X) 790,000 0 790,000
< 90,000
Al 700,000
307 gl2tol & 790,000 0 790,000
< 90,000
Al 700,000
04 RIZHHAIE XS 790,000 0 790,000
OFeH 790,000
< 90,000
Al 700,000
T 8 72,000 60,000 12,000
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2AMd: 2322
JM: 20z AE (&)
el =ol FE Y B2 (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OO0rel #YP8 RFRFY(M=I, Mds20+,32
a 8) 500
301 YU B A 2,400 2,400 0
11IIEEAS 2,400 2,400 0
O=32J MEME 2=
50,000 « 18 43| «12& 2,400
307 glz2tol & 6,680 6,420 260
05 RIZHRI &3 6,680 6,420 260
OofolzdHEY 150, 000& =12 1,800
OdJItM AN (LR & SESMI})
250,000 128 3,000
OsZI| et Ze| 470,000& *43| 1,880
401 Al HIZ 201 I 25,000 30,000 A5,000
01 A& HI 25,000 29,676 N4,676
OxXYE ZZ4 ATH(IAE Q)3 M
5,000,000& =14 5,000
OXictal & =3 5= == A
20,000,000& =14 20,000
Ng=org 29 1,836,708 1,778,702 58,006
201 Let249] 24,420 25,340 2920
01 At 22/l 8,800 9,720 A 920
Oget=gH| 4,000
o= 24 MEH 4,800
02 =24l 15,620 15,620 0
OB (2AASH) 3,200
OHdt=E 23 30,000 *12& 360
OXsi BE8= 800,000& »3CH 2,400
OXtS XA 300,000& »3CH 900
OdMERE =S 120,000& »3CH 360
OXgEsFH & =44 8,400
301 AP B A 1,776,928 1,745,562 31,366
Vo=t - 2SRES24=3 1,776,928 1,745,562 31,366
OAlg =&t el A 1,719,328
== 1,187,535
- ZHEIEAE 3,235,800& *12& 38,830
- ANERA 3,235,800& x2H x12& 77,660
- =AHH 3,100, 100 »2H «12& 74,403
- XA A 2,809,000& x7Hx12& 235,956
- 3g¥ 2,390, 1003 x16H 12 458,900
-&H& 1,739, 1003 «8H 123 166,954
- A=2ZA 2,809,000& x4H 123 134,832




2AMd: 2322
JM: 20z AE (&)
Ciel: 3ot ME W 22
SA BB O () - MM - HES 0l &+ o4 il
d2=¢ 1,082,471,000& *1/12x90% 81,186
2+ I3 33,720
-20= 0] & 100,000 x2H »12& 2,400
-154~194 80,000& 19 «12& 18,240
-10~144 60,000 *9H x 128 6,480
-5~94 50,0003 11 128 6,600
& Mz AlH| 130,000 x40H »12& 62,400
FEF O 1,082,471,000& *1/12%120% 108,248
HILE &Y
1,082,471,000& x1/12%1/30%x 10 30,069
RS 24,000
- o, 2A 50,0002 402 %122 24,000
I ZH A Cf 50,040
- SHEIEAE, NEAY, =4, A=A
130,000& x9H 128 14,040
- XA, A" 120,000 x7H «12& 10,080
- JHR, &R 90,0003 x24H x12& 25,920
HpAag 4,920
- BT, NS
70,000 «3Y x 128 2,520
- LM 50,0003 «4H 122 2,400
HEE 24,360
- X 30,0003 +37H+12& 13,320
- BYO=E 20,0003 x46H 12 11,040
Zelag (A28 USK S)
50,000 «4H «12& 2,400
sdg 50,0003 x5 «53] 1,250
Hlard s =& 109,200
-4 70,0003 x22 x5H «12& 92,400
=54 70,0003 x4 L «5H «12& 16,800
O34 oo ¢ 25,900
A2 Ol A 650,000 =154 9,750
It o4t 650,000& » 154 9,750
SERH 800,000& 84 6,400
ozzaESE 7¢ 70,000& x40 2,800
Ol =352 ¢ 1,900
SH 70,000& 204 1,400
0= 100, 000& 5= 500
O2%43H 3¢ 30,0003 *20H x 153 9,000
OAXN S =& 30,0003 *30H x153] 13,500
O=2ti*I & ns =0
30,0003 «5&H «302] 4,500
307 giz2tol & 1,800 1,800
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2AMd: 2322
dM: FoM BEEES
tel: SEE3M BEEFH (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 10,000
Al 10,000
2IKE 23N E+FU(BX) 2,600,000 2,497,000 103,000
= 1,820,000
< 390,000
Al 390,000
401 Al& I 28I 550,000 2,147,000 A 1,597,000
= 385,000
= 82,500
Al 82,500
01 A& HI 489,860 2,117,240 A 1,627,380
Ogd HE2X OtH=Eaz 228 ESAE
A X 100,000,000& *99. 1% 99,100
= 70,000
= 15,000
Al 14,100
OEd S MEXH HEES
30,000,000& %98.92% 29,676
= 21,000
= 4,500
Al 4,176
OLRl M2 SFA B4
100,000,000& *99. 1% 99,100
= 70,000
< 15,000
Al 14,100
OL2 AMAN M AgE s 172,704
= 121,800
< 26,100
Al 24,804
Odfss MYz HETH
80,000,000& *99. 1% 79,280
= 56,000
< 12,000
Al 11,280
odgd &ljel LElUR ExXg 5,000
= 3,500
< 750
Al 750
OXeldtd 3 s BExX= 5,000
= 3,500
< 750
Al 750
02 Zeltl 56,000 24,000 32,000
OYd AMMA BU=SHASE WS 30,000
= 21,000
< 4,500
Al 4,500
OEd EGAMA Ax0aigs B2 W= 20,000
= 14,000




fAH: S2st22 1
dM: FoM BEEES
Sl RSN 2ERY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 3,000
Al 3,000
Ogd AUA WYY ddE 6,000
= 4,200
< 900
Al 900
03 Al 2 THHI 4,140 5,760 A 1,620
OE& HESX D=z 2R ESAE
F=DN 100,000, 000& *0.90% 900
O MEH HEES
30,000,000& =1.08% 324
Ogd Hd=3A SHEAE S
100,000, 000& *0.90% 900
OL® MMM BFe dyes
180,000,000& *0.72% 1,296
Odds4d 2=z 8Ex2F
80,000,000& *0.90% 720
402 RI2FXt20l M 2,050,000 350,000 1,700,000
= 1,435,000
< 307,500
Al 307,500
01 2I2tR2E X 2,050,000 350,000 1,700,000
Od@d AMA USEHEE W= 1,370,000
= 959,000
< 205,500
Al 205,500
Odd EEAXN AX0dga 252 W= 680,000
= 476,000
< 102,000
Al 102,000
SXNEZM BE+=FH(Bx) 968,000 1,020,000 A 52,000
< 484,000
Al 484,000
207 A RO 20,000 0 20,000
< 10,000
Al 10,000
01 g8 20,000 0 20,000
OFeel & |22 D22 FUXNEZA
20,000,000& =14 20,000
< 10,000
Al 10,000
307 21201 A 20,000 0 20,000
= 10,000
Al 10,000
02 QIZHEAAMNEXS 20,000 0 20,000
OFgel & 83 nEz2d S=is 20,000
< 10,000
Al 10,000
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2N 2SR
M 25 2ENS
e RS E=FHH| (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
401 AlEHIZL £ 0HY| 928,000 1,020,000 A 92,000
[ 464,000
Al 464,000
01 Al&H| 921,616 1,010,550 88,934
OY® DENY H2X L2IA
80,000,000& *99. 1% 79,280
= 40,000
Al 39,280
OR3el ¥ 22 127 I
60,000,000& *99. 1% 59,460
& 30,000
Al 29,460
OY2&n AIOHH HetE
82,000,000& *99. 1% 81,262
& 41,000
Al 40,262
OY® 2R E42 o8 U BL2FY S
0,000,000& *99. 1% 69,370
& 35,000
Al 34,370
OL® ASZY SIFY ¥ bieEy
80,000,000& *99. 1% 79,280
& 40,000
Al 39,280
OU=A 22 2 SZFY|
36,000, 000& *98.92% 35,612
& 18,000
Al 17,612
O SHMNEI IS, ti+2 2 HeFY
18,000, 000& *98.92% 17,806
& 9,000
Al 8,806
O8F2 AX0dUeA B2 & A=22=x2
AAHEsSA 30,000
o= 15,000
Al 15,000
OHR 2EM 2 £ L& HAE 4
100,000,000 *99. 1% 99,100
o= 50,000
Al 49,100
Oogxiel === L 2M HFZEAHSY 22,000
= 11,000
Al 11,000
Oz2sgu 8N Y BHABs EHESH 30,000
& 15,000
Al 15,000
OEEHANE SHAH| 26,000, 000& *98.92% 25,720
= 13,000
Al 12,720
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2AMd: 2322
N 25l BEXS
2 RS2 EEEFH| (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OZHANR 28, 428+ 4 NSHNEs &
HEA 46,000
< 23,000
Al 23,000
ORMHI g&&EH| 40,000, 000& *«98.92% 39,568
< 20,000
Al 19,568
oY A=FH| 48,000,000 *98.92% 47,482
< 24,000
Al 23,482
Ozlstd g&8&l 30,000,000& %98.92% 29,676
< 15,000
Al 14,676
O &AL S Ed HLASIA 50,000
< 25,000
Al 25,000
OdZAL HSE FLESXZA 50,000
< 25,000
Al 25,000
O=23M eHLHE FHHI 30,000
< 15,000
Al 15,000
03 AIE 2 0H bl 6,384 9,450 A 3,066
OLEDNBNE S2X L2XA
80,000,000& *0.90% 720
0832l ¥ S22 D2RHY ¥ FUNEX
At 60,000,000& *0.90% 540
Og3ew A BetE =
82,000,000& *0.90% 738
O 222 SH2HE o 423 S
70,000,000& *0.90% 630
OY® ASHt SHFY L HIHEY
80,000,000& *0.90% 720
OU=At =2 & SEFFHI 388
OEd SAENSIE JIE, =2 2 AHSHFH 194
Odd SEM 2 ¥ AW HaAB =+
100,000, 000& *0.90% 900
O8ZNA EZFH 280
ORMHI g&EEFHI 40,000,000& =1.08% 432
Oo&ge A3 518
Ozlstd g&8&l 30,000,000& =1.08% 324
=3t Eg2celbl XN 17,900 17,900 0
101 1A bl 11,400 11,400 0
M4 II2HZ2Z2NSES 11,400 11,400 0
ORMSE2XNA(L=SAMXNSEXNE23HM)
950,000& =123 11,400
201 Let24d] 2,000 2,000 0
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2N S22
M 25 REMNS
Cel: Q=23 EES EEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
01 AFR2t2l bl 2,000 2,000 0
ORI WELR2H (V2AXNSUE2ET) 2,000
202 O B 3,500 3,500 0
01 2L Y| 3,500 3,500 0
ORIMEL BT (V2AXNSUESET) 3,500
206 M= Hl 1,000 1,000 0
01 M= bl 1,000 1,000 0
ORI MSLRA ST (V2AXNSUE2ET) 1,000
=3 22l 62,268 126,289 A64,021
101 2124 4| 2,668 2,489 179
04 JI2ZtHI 22 XNEE % 2,668 2,489 179
OXNE ¢ HIXE 251 22
41,6803 2% *3204 A 2,668
201 et A | 26,420 74,420 A 48,000
01 AFR22t2l Yl 19,220 61,220 A 42,000
OS3 HAHA M2} AL 3,670
A A S| A 9| 2,200
SEZSM S A9 70,000 *x3H x73| 1,470
OSX23 M It 2=22 (31 A) 2,550
OPHZAIX S 8% L oY 2123 A
1,000& x13,0000H 13,000
02 =294l 7,200 13,200 A 6,000
OSZS3 USRI AIAY 222
253,000& x12& 3,036
OS5 =¥ 2584 2223 1,740
I3 85,000& x12& 1,020
Aol 22 60,000& x12& 720
OSX23M S NE2 X 22831 2) 724
OAI& &H|l RXH 1,700
301 dEtE A= 9,180 9,180 0
11 IIEtE A2 9,180 9,180 0
O23 1 g2 22l 2a2 9,180
=30l 45,0003 x6H x12& 3,240
22| ol 95,0003 «»3H =128 3,420
ZHAl QI 30,0003 x7Hx12& 2,520
401 A& HIZ S OHYI 24,000 39,000 A 15,000
01 Al& HI 24,000 39,000 A 15,000
OS3 I 2ol oty & X
300, 000& *30H A 9,000
Odds4d =2X AIZ2XAL 15,000
S3H 22l (EX) 7,770 0 7,770
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<

n0

Kio

Hl w

7,770

7,770

A 132

N 132

A 132

770,000

770,000

770,000

70,000

H3r
Wikd
RIS

3,852
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